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e % r d L) v
1 86.431 3.00 1.62542 64.5
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9.70° = 4.00 + 5.70 *

92



[ s | ss, | s, | S, | sS Lo FoP 1 @)
o | voizs | 0002 | 00000 ‘_-_u_;c;?-ll 0.0426 | 22.07 2.26%
100 0.086 0.500 ‘ 0,143 | 0,180 0.04i | -0.151 ~0.058
70 0.128 0,153 | 0.032 I 0.032 ‘ o - 0.041 —n.onﬁ
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3 - 925,180 Kok ok 1 h 13 60.634 | 5.30 . 1.58013 | 61.1
4 - 144.500 2.00 | 1.73400 51.5 i 14 ~187.325 | 0.20 {
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3 - 90.863 \ 0.1z 118 23.775 2.73 1.7725 | 48.7
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7 11.497 3.38 : 20 67.616 4.89 1.6935 | 53.3
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18 | 65.439 4.75 | 1.58913{61.1j28| ~45.921 0.30
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9 ~—30.500/ 0.800  1.58913 61.3 |24| 11.605| 3.500
10 18.238) 1.200 | 25|~ 23.918] 1.200 | 1.7847225.7
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